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The paper is divided into three Sections— A4, B and C.
All questions from each Section should be attempted

together. All questions are compulsory.
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SECTION A (9% 37)

1. (a) Describe the circular flow of money in a three sector

economy.
U I &= Sreferean # o9 & g ware @ g
B 5

(b) Show how the nominal supply of money depends on the
supply of high powered money, the currency deposit ratio
and the reserve ratio.

T9iEY 6 B8 o7 @ o @ gl e why o,
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34 j 10
Or (3van)

(a) How is equilibrium defined in the financial markets in the
classical framework? ' .
sfiftsr W ¥ R awrd ¥ wged @ 3
afRwite frar wmar ®7 5

(b) Explain the Baumol-Tobin transactions demand for

money.

T2 AT F @ A AT @ AR 10

2. (a) What is the impact of Autonomous Spending on the level
of rate of interest () and level of income (Y)?
W B T () D 'R AT D 'R (Y) | @E
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(i) SrTaEr
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(b) What does the “Neutrality of Money” mean?

‘Ao B qEgAr H FT I ¥ 5

5. (a) Determine the equilibrium real rate interest and real

exchange rate in a large open economy.
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(b) Discuss the effectiveness of fiscal policy in a small open

economy under flexible exchange.
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Or (m)
(a) How does the large open economy differ from a small
open economy?
TH B Gl sreferaeen ¥ fega @et orfarawr 3@
=t %2 5
(b) What are the effects of expansionary fiscal and monetary
policies on exchange rate and net exports in a large open
economy?
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Calculate:

U HITT

(a) The equilibrium level of income and rate of interest.
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(b) With the help of multiplier, find the change in equilibrium

income if the government expenditure increases by 100.
aft sl =g # gfa 100 St ¥ A o A e
¥ wga I ¥ wRadw & s A

“

!
4

(c) How much increase in money supply is required to increase

the equilibrium income by 250?

e A § 250 B4 @ gfs BN & R g
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Section C (‘d‘! 'ﬂ)
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4. (a) Explain the determinants of Natural Rate Unemployment.

(a) Explain the effects of monetary expansionin:

2886

il S | & FuRel @ awasg|
(b) What are the causes of “Wait Unemployment”?
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(i) The short run

(ii) The long run.

Or (3vaan)
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(b) How can “Crowding out” be ‘accommodated’?
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g7 5
Or (m)

(a) Examine the effectiveness of monetary and fiscal policy

in the following cases :
(1) The Liquidity Trap
(i) The Classical case.

e Rafaal & difes qan toea e @ sy

& ghEor HAY ¢

(i) T

(i) whaftsw s | 10
(b) Distinguish between the Keynesian and‘the Classical

Aggregate Supply Curves.
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Section B (& )

3. Given the following information:
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Consumption . C=200+0.75 Yd
Taxes : ¢ TA=200
Investment : [1=200-25i

Government Expenditure : G=200
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Demand for Money L=0.5Y -50:
Nominal Money Supply : M=900
Price Level i P=3

= GeEL & ‘Tﬁ; i
ud : C=200+0.75Yd
H : TA=200
fraer . 1=200-25i
TWEH g . G=200
& @t HiT L=0.5Y-50i
AHAE O JATgfef : M=900
T &R : P=3

(a) Determine the equilibrium income and rate of interest.
I P QW qT Fged A H FEier S
(b) If the Government expenditure increased by 150,
' determine:
~ (1) The change in the level of income
(i) The shift in the IS curve.

afe R @ § 150 6t IRy Bt ¥ @ P Hifv: (
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(c) Ifthe increase in government expenditure is accompanied

by an increase in taxes by 150, what is the change in the

level of income?
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Or (3raan)
The following equations describe an economy:
C =100 +0.8Yd where C stands for consumption and Yd for

disposable income

CT= 0.25y where T stands for tax and y for income

G = 850, where G stands for government expenditure

I =750 — 50i, where I stands for investment and i for rate of
interest -

L = 0.2y — 25i where L stands for demand of real balances
M/P = 500, where M stands for nominal money supply and P
for the price level. - j

et wlieor U sreferaen @ affa & ¥

C =100 + 0.8 Yd, 518 C @9d & 1T Td Yd GaW AT &
foa _

T=0.25y, W&l TR & fog qary omg & fog

G = 850, T8 G Tl =9 & fog

I =750 - 50i, et 1 Ay & forg @ i s & @ & forg
g :

L = 0.2y - 25i, et L areafds §geet & AT & Rl &
M/P = 500, T8I M AT @t Ha1 Sy & forg e Pyea
W & faw &1 :
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